


Breit-Wigner  

 

x0 xmin xmax f(x)  

 

Function  BRWIG( r,  x0, xmin, xmax, dxdr) 

Return value :  x
0

x
min 

x
max 

 

              dxdr : dx/dr 

Input           r :   uniform random number r 

                  x0 : x
0 

             xmin : x
min 

             xmax : x
max 

G

x0xmin xmax



2. BASES (1)

a = 0.8 e = 10-1,  10-3  

e Expected Estimate(error) CPU time

10-1 22.0287 22.0265(0.0196) 0.58

10-2 248.1501 248.6445(0.5460) 19.16

10-3 2,510.0960 2,508.27  (11.12) 117.48

10-4 25,129.5631 24,617.0   (182.1) 585.24

10-5 251,324.2342 239,900.9 (4,542.0) 1169.83
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3. BASES (2)

 e = 10-1,  10-3

e Expected Estimate(error) CPU time

10-1 22.0287 22.0270(0.0215) 1.70

10-2 248.1501 248.042(0.1232) 9.47

10-3 2,510.0960 2,511.476 (1.237  ) 12.30

10-4 25,129.5631 25,128.54  (12.15   ) 17.26

10-5 251,324.2342 251,475.9   (124.5    ) 92.10
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4. (1)

BASES

a = 0.8 e = 10-1,  10-3  

BreiWig

y

x = a – y 

x0 

G e  

xmin = 0.0,  xmax = 1.0  

e Expected Estimate(error) CPU time

10-1 22.0287 22.0265(0.0196) 0.58

10-2 248.1501 248.6445(0.5460) 19.16

10-3 2,510.0960 2,508.27  (11.12) 117.48

10-4 25,129.5631 24,617.0   (182.1) 585.24

10-5 251,324.2342 239,900.9 (4,542.0) 1169.83
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BRWIG  

Input  z x0 xmax xmin     Output x dx/dz 

Breit-Wigner :                                                               

 

x   

 

x0 = a – y   y :   

dP : x0  p(x)  


